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int main(void){
char a, b, hoge;
int i, j, fuga;
double x, y, foo;

e 0000 DODOOODOOOODOOOODOODOODOOOOODOODOOOODOOOOOOODOOO
OO00OO00O0%bO0O000n0%oooboDboxs00000O0O00DO0O000DO0OeODOogn
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scsnf ("Yc",&hoge) ;
scanf ("%d",&fuga) ;
scanf ("%1f",&fo0);

e JO0ODODODODODDODOOOOOOODODOOOOOOUODOODOODOOOY%cbODOOO
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printf ("%c" ,hoge);
printf ("%d",fuga);
printf ("%f",foo);

e 0000000 DOOOODOOOOODODDOOODOOOOODOODOO

hoge=’A";
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0O 1. 00000000000000000000000O0
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OO0 char 8 -12800 127
obo0 int 32 -21474836480 2147483647
OO0 double 64 00000 1073%00 1072 000 150
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x=0.00000023456 ;
y=2.3456e-7;
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e NODOODOOO0DOODDOODODODOO0O0OO0N Dmu=1.25663706144e-6 0 0 U Oprintf [
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printf ("%f\n",mu) ; 0.000001

printf("%O.lOf\n" ,mu) ; 0.0000012566
printf ("%20. 10f\n" ,mu) ; 0.0000012566
printf("%e\n",mu) ; 1.256637e-06

printf ("%0.10e\n" ,mu) ; 1.2566370614e-06

L

printf("%20.10e\n" ,mu) ; 1.2566370614e-06
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int hoge=123, fuga=456;
double fo00=3.1415, bar=1.6e-19;
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const int hoge=123;
const double fuga=9.8765e+43;
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a=(double)hoge/fuga;
b=hoge/ (double)fuga;
c=(double)hoge/double (fuga) ;
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3.1 000 (if—else)
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if (a<=10) printf("ad 0100000 \n");
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if (0<=a && a<=10){
printf("ad 0000 \n");
printf ("0 0O \n");
printf("ad 0100000 \n");
}
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if (0<=a && a<=10){
printf("ad 0000 \n");
printf ("0 O\n");
printf("a00100000\n");
Yelse{
printf("ad 0000 \n");
printf ("0 00 \n");
printf("ad 01000000 \n");
}

3.2 000 (switchO if—else if—else)
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switch(#){ // S ~

~ /
U 27 Y ~ \4
case EHA1: - ;07 RN
/
31 S/ Rt H=TE M2 XM
32;

break; / / |
case EHA2: -7 // | | | |
X3; /
Sa, i [ = | | x | [ x |[ = ]/
break; / | | | | /
case EHA3: -~ | /
jCS; //( /
3C6;
break; // - .
default: —-—---—-——___ / -7
X7; T

U 1:switchOOOODODODOOOOOOOOOOOODOO

if (Al { -
31, -
32; -7 p

Yelse if (HillfEI=2){ 7
33, g
4 -7

Yelse if (HillfHI=3){
35;

0 2: if00else iflelse0 000000



3.3 00000 (whileO for[ do--while)

000000000000 (D0O00)0D00000000UD0OO0O000UO0O0O00 whileO forO
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do—while 0000000 OO0O0O0O0O0OO0OO0OO0OOO0COOOOO

X1;
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for (FIHAE
X1;
X2,
X3;

}
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0 4: for000000O0O0OO0DOODO

doA{
X1;
X2;
X3;
}while (HE#ESEHR) ;

O 5: do whileOOODOOOOODOOOO
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000 1: whileOOOODO 10100000000000

#include <stdio.h>

int main(void){
int i, sum;

sum=0;

i=1;

while (i <=1000){
sum += i;
i++;

}

printf (710 010000 0 0 00 O0%d0O 00 \n”, sum);

return 0;

gob 2:ford0000 10100000000000

#include <stdio.h>

int main(void){
int i, sum;

sum=0;
for (i=1; i<=1000; i++){

sum += i;

}

printf (710 010000 0 0 00 O0%d0O 00 \n”, sum);

return 0;

000 3: dowhileOOOOO 10100000000000O

#include <stdio.h>

int main(void){
int i, sum;
sum=0;

i=1;

do{
sum += i;
i++;
}while (i <=1000);
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14 printf (710 010000 0000 0%d0 00 \n”, sum);
15
16 return 0;
17| }
4.2 OJO00O0O0OOOOOOO0O
ooOd 40000
f(z) = =522 + 6z + 6sinx — 1000 £ = £ 1000 (1)
000000000000 oodoooooooOoOooD0—0o00o0bo00—00de=0.001000000
ogoooao
x = —1000.0000, —1000.0001, —1000.0002, --- ,999.9998, 999.9999, 1000.0000 (2)
00000000000 f(x)DDDDDDDDDD
000 4. 000000000000000O00
1 | #include <stdio.h>
2 | #include <math.h>
3
4 | int main(void){
5 double xmin, xmax, x, dx, fx;
6 double max_fx, max_x; // 00O0O0o0ooooo
7 int i, ncal;
8
9 xmin = —1000.0; // x0000
10 xmax = 1000.0; // x0 000
11 dx = 0.0001; // x0 0000000000 O00)
12 ncal = (xmax—xmin)/dx; // 0000
13
14 //--- 0000 (x=xmin 0 O00O0O0O0O000O0) =-=-==-=--=--
15 X = xmin;
16 max_X = X;
17 max_fx = —5.0xxxx + 6.0%xx + 6xsin(x);
18
19 for (i=1; i<=ncal; i++){
20 x = xmin 4+ ixdx; // x0 00
21 fx = —5.0%x*x + 6.0%xx + 6xsin(x); // £(x)0 00
22
23 //---- 000000000 =------=====----
24 if (max_fx < fx){ // 00000000
25 max_fx = fx;
26 max-X = X;
27 }
28
29 }
30
31 printf (?x = %f0 0 0 f (x)=%f0 00 00 \n”, max-x, max_fx);
32
33 return 0;
34|}
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ggo 5 ggbgooobooogoog

#include <stdio.h>

int main(void){
double xmin, xmax, x, dx;
int period , current;
int i, ncal;

xmin = —1000.0; // x0 000
xmax = 1000.0; // x0 000
dx = 0.0001; // x0000000000OO0OO00O)
ncal = (xmax—xmin)/dx; // 0000

printf (?’00000000000000000O0O00ON\R”);

period = 0;
for (i=1; i<=ncal; i++){
x = xmin + ixdx; // 0000 x
// --- 000000 0K or N6 D OO ----
if (xxx—2xx—3 <= 0 && 3xx+2 < 4xx){
current = 1; // 0KO OO
}else{
current = 0; // NGO OO
}
// --- 0K O NG OODOODOO ----
if (current != period){
if (current =— 1){
printf (?%f\t0 0O \t”, x);
period = current;
}telse{
printf (?%f\n”, x);
period = current;
}
}
}
return 0;

}
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